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Convergence Test Quiz 1
Instructions: Show all of your work. Be sure you clearly state conditions for tests you apply. You
cannot apply a test without showing its conditions are met (if that test has conditions that need

to be shown).
1. Answer the question below. Identify the test you used and explain why you used that test.
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To what number does the series Z ( ) converge?
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2. Which of the following series converge? Identify the tests you used and all show all your

steps for applying those tests.
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3. Determine for each series below if the alternating series test can be applied to show
convergence. Explain your reasoning for why or why not the alternating series test can be

applied.
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4. Use the ratio test to show that the series Y.7—, % converges for all real x-values.



